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Q1 Mosab enterprises, an exporter of leather products to Turkey, has recently acquired a large-

szed order. The order requires a liaison office to be sat up in Turkey till the completion of
the contract. Mr. Zaiku, Manager of a Turkish resdent company, has been offered to act as
an agent of Mosab enterprises for this contract and to oversee the liaison office. The fee to
be pad to Mr Zaku will be Lira 1 billion per month commencing from the month of export
redization. Also a joining bonus of Lira 15 hillion will be pad in the beginning. The cost of
exporting goods is estimated to be Rs 500,000 payable immediatdly.

The exports will take place during the next year, and the cash will be recaved in the
following mamer:

Months from now Amount in Lira
(millions)

6,000
5,000
4,000
3,000
4,000
5,000
6,000
6,000
6,000
2,000
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Current exchange rate between the two currencies is Lira 26,000 per Rupee. The borrowing
and lending rates prevailing are 9% and 6% for Rupee and 22% and 13% for Turkish Lira
Mosab Enterprises is a cash rich company, and uses a cost of capital of 13% for gppraisng
its short-medium term projects.

Mosab enterprises is worried as to the fdling vaue d the Turkish Lira. Their bankers have
offered them a currency SWAP with one of their Turkish clients But the SWAP available
is for Lira 20 hillion having a tenor of one year. Under the SWAP agreement, Lira 20
billion will be received by Mosab enterprises at inception of SWAP againg the payment of
Rupees a current exchange rate. The same transaction will be reversed at the end of the
SWAP term. As Lira is weskening, Mosab will place excess Lira funds available in Lira
deposits only to the extent required to meet the maturity vaue of SWAP of Lira 20 hillion.
Once aufficient amount is deposited to make available the maturity value of the SWAP, any
further Lirafunds will be converted into Rupees.



Q2

@)

Asauming that the currency rates follow a uniform pattern indicated by the borrowing
interest rates of reevant currencies and the vaue of Lira devaues agangt Pak Rupee
approx 0.943% on a month to month bas's.

Required:

Advise the management of Mosab enterprises, with supporting computation, whether it should
enter into the currency SWAP or not and aso advise the maximum price that Mosab enterprises
should pay for such SWAP. (25

You ae the treasurer of XYZ conaulting company, which has recaved an extraordinary
conaulting fee of Rs 20 million on July 1, 2003 from one of the consulting work performed
for Nubian Limited. Your company expects to utilise this amount as part payment for the
opening of its new offices in Lahore and Idamabad. The work for these offices has been
contracted out to H Congtruction Company. The cost of new offices is expected to be in the
range of Rs 50 million to Rs 60 million, payable as follows:

Date Amount (Rs million)
June 30, 2004 25
July 31, 2004 10
June 30, 2005 Baance

However, due to local land taxation laws a these new s$tes, an additiond Rs 8 million may
have to be pad to contractors for onwards payments to land taxation authorities on
January 1, 2004. The chances of such payment are only 40%.

As a treasurer, you are concerned about placing this money into short term money market
investments. Y our banker has offered you the following products:

If premature
Fixed Deposit Rates (p.a.) Tomatureon withdrawn (p.a.)
% %
6.5 June 30, 2004 4
55 Dec 31, 2003 35

Interest rate on savings account is 4.5% p.a. whereas overdraft arrangements are costing
8% p.a

Congdering the probability of the cash flow relating to land taxation payments, evauae the
following options

Placements Options
@ 1 year depodits Early withdrawd in case of land taxation payment
(b) 1 year deposits Utilization of overdraft in case of land taxation
payment
(© 6 months deposits Utilization of depodit for land taxation payment
(d) 6 months deposits Utilization of overdraft for land taxation payment

(e Savings account
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3
Required:

You are required to caculaie the most profitable option, showing dl the relevant workings.
Further, compute the effective rate of return earned by your company on the basis of best
placement mix. (20)

Alpha Ltd is a Pakigtan resdent company involved in the production, marketing and sde of
semi-conductor chips to the eectronics related companies modly Stuated in the northern
territories of the country. The company has its biggest production plant in Karachi, which
produces amost 60 percent of the tota required chips. The useful life of the company’s biggest
plant is dmost over which is resulting in heavy mantenance cogt to the company. The
maintenance cogt of the plant for the year just ended was Rs 3.5 million The engineers have
caculated that this cogt in red terms, will follow an exponentid pattern given by the following
formula

Real Maintenance Cost = Rs 1,750,000 X Maintenance Cost Factor (MCF)
The vaue of respective years of MCF isasfollows:

Y ears from now MCE

2.1435
2.2974
2.4623
2.6390
2.8284
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With these maintenance costs being incurred, the company can use this plant for another 5 years
growth with no scrap value at the end. If this plant is sold now, a post tax vaue of Rs150,000
could be obtained. No tax depreciation alowance was obtained on this plant, as the entire cost
was tax deductible in the year the plant was ingtdled.

In the latest Board of Directors meeting, a number of issues have been identified. A brief
summary of theseissuesisasfollows

The production director has informed that Karachi plant can be shifted to another location in
the northern territories where labour is chegp. This would result in a decrease in variable cost
per unit to 3/4"™ of last year's cost, which was Rs 250 per unit. The company earned a
contribution of Rs 100 per unit in the last year with a production and sale of 100,000 units.
Increase in fixed cost, however, will be Rs 4 million p.a The company has seen a growth in
saesvolume of 4% p.a inthelast 5 years, which is expected to remain the samein future.

If haf of the decrease in te varidble codt is used in reducing the sde price, it will make
Alpha Ltd's prices comparable with those of US based companies resulting in the expansion
of Alpha Ltd's operations in US with a sdles increase of 20,000 units increasing at a steady
rate of 7% p.a

The st up cogt of new plant will be Rs 20 million. Tax depreciation dlowance will be
available on 80% of this cost @ 25% p.a. on reducing balance method from the year of
production, whereas the balance of 20% will not be adlowable for tax purposes. The life of
the new plant is expected to be 5 years, with athen post tax scrap value of Rs 500,000. When
the plant will be sold at the end of its life, the tax loss on disposd shdl be dlowed for tax
purposes.
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(4)

The closure of Karachi plant would result in Alpha Ltd being exposed to relocation costs of
Rs 7.5 millionin the year of closure. This cost istax alowable in the year incurred.

(All the above cash flows are in red terms hence no adjustment for inflation is required)
The details of the exigting capitd structure of the company is asfollows:

The company has 10,000 Rs 100 debentures in issue, being traded at 112 percent. The red
rate of return for the debt investors is 3.67%p.a AlphaLtd also has Rs 380,000 floating rate
bank oan.

100,000 shares of par value Rs 10 are in issue, being traded at Rs 37.50. Equity market is
offering a nomina return of 16.75% p.a. whereas dl equity companies in the smilar industry
as AlphaLtd have an equity beta of 1.35. Therisk free rate prevailing is 6% p.a

Current rate of inflation is 9% p.a. Taxation rate gpplicable to the company is 33% with tax
being paid one year in arrears.

Required:

Being a financid consultant, you have been asked by the Board to advise whether Alpha Ltd
should opt for he shifting of the plant to new location. You should dso mention an indicative
increase / decrease in the vaue of the company, if the project is accepted. Alpha Ltd evduates its
smilar projects usng weighted average cost of capitd adjusted for inflation. (30

Beta Limited is in the busness of manufacture and sde of consumer products. The
company has seen a good growth primarily due to expanson of maket. Last year's
turnover was Rs 9.5 million. The company has a debt to equity ratio of 24:76 on the bass of
book vaue, with debt being Rs 1.2 million.

An andyss of the financids has reveded tha the company operates on an asset turnover
of 2, computed on the bass of average assets employed during the year. At an average,
profit before interest and taxation has been a 18% of turnover, with taxation rate being
30%.

The company has a gand-by arrangement with a loca bank to extend funding a a cost of
12% p.a

In order to achieve the growth, company needs more investment but the only source of
funding avalable is ether through profit retention or the banking arrangement as mentioned
above, however, as per the conditions imposed by the bank the company is required to
maintain the existing debt: equity ratio.

Assume that the profits are earned evenly throughout the year and in order to maintain the
debt : equity ratio the additiond bank funds can be drawn fredy throughout the year.

Required:

Prepare working to check whether the company can achieve the target growth in sdes of
30%. In case if the company is unable to achieve the sdes growth target, what is the
maximum percentage growth in the sales that company can achieve in the circumstances?

(10)
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Q6

Q)

@ What is the sgnificance of a misson satement for an organization. What
consderations should be given while preparing amisson statement of a public

company. (05)

(b) What is synergy and briefly describe the kind of synergiesthat are availablein a
business combination. (05)

(© A medium sze arline company with alimited scde domestic and internationd
operations is consdering to acquire the business of aar-way courier company or a
cargo shipping line. You are required to prepare a report on the synergies, the
company would havein both the cases.. (039))

The sdles and working capitdl of Sanwa Ltd during the last 6 yearsis asfollows.

Year Sdes  Working
capital
(R *000)
1996 60,000 16,000
1997 70,000 17,800
1998 80,000 18,600
1999 86,000 19,000
2000 90,000 22,000

2001 100,000 25,140

The company produced and sold 500,000 units a a sdling price of Rs. 200 each during the
year 2001. The company expects to grow its sales by 8% in the year 2002. The costs and
prices are expected to remain unchanged during 2002.

Theinformation relating to cost of production per unit is asfollows:
Cost Item Rs.
Raw materid 80
Direct labour 50
Overheads 45

Following is the average period held by various working capitd items:

Raw materids stock 2 months
WIP 1 month
Finished Goods 2 months
Credit dlowed by suppliers 2 months
Debtors period 2 months
Lag in payment of wages 2 weeks
Lag in payment of overheads 1 month

Company’s 20% production is sold against cash. The production pattern is even throughout
the yeer.

Required:

Compute working capitd requirement of the company for the year 2002 using the following
methods:
Opeating cycde method assuming the cash & bank shdl be mantaned a
Rs.2,750,000 (05)
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(6)

(@ Thedividendsto bepad by acompany are expected to grow by 8% for the next four
years and then by 4% for the subsequent 4 years and thereafter at 2%.

Required:

Cdculate the value of share now if present dividend is Rs.5 per share and cost
of capita is 10%. (04)

(b) M/s. XYZ Limited has a share capitd of Rs5 million congsting of 500,000 ordinary
shares. Its present P/E ratio is 10 whereas market price averages Rs.50 per share. It
plans to issue one right share for every five shares held a a price of Rs40/- per
share. If the P/E ratio is expected to reman the same after the right issue and the
additiond funds are expected to earn after tax profit of 14%.

Required:
() Market price of a share after the right issue.

(i)  Theincrease or decrease in the wedlth of an exigting share holder having
100 shares, if he exercises hisright to purchase the shares. (06)

Mast Group of newspapers has a cost of cepitd of 20% and it wishes to determine the
optimum replacement policy for its computers. Each computer costs Rs. 1 million and can
be traded in a end of the first year for Rs. 600,000 (ho maintenance cost paid) or traded in
a the end of the second year for Rs. 300,000 (with maintenance paid after one year of
Rs.100,000).

Required:

@ Cdculate the equivdent annud cost of each policy and recommend which should be
implemented. (2.5

(b) Identify the factors to be considered in replacement decisons. (2.5)

(THE END)



